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Multiple Choice Questions

Q.1. | Two finite sets have m and n elements. The number of subsets of the first set is 112 more than that of
the second set. The values of m and n are, respectively
A 47 B|74 Cl44 D|7,7
Q.2. | Theset(4 N B’Y U (BN C)isequal to
Al AuBuUC B|4uB C|aucC D|4nB
Q.3. | Inaclass of 60 students, 25 students play cricket and 20 students play tennis, and 10 students play
both the games. Then, the number of students who play neither is
A0 B |25 C|35 D |45
Q4. | 1fX={8"-7n—1|ne N}and Y={49n—49 |n e N}, then
AlXcy B| YcX Clx=v D| xny=¢
Q.5. | Letn(A) =m, and n(B) = n. Then the total number of non-empty relations that can be defined
fromAtoBis
Alm" Bin™1 Cimn-1 D|2m-1
Q.6. | If[x]?-5[x] + 6 =0, where [ ] denote the greatest integer function, then
Al xe[34] B | x€ (2, 3] C | xe[2, 3] D|x€[2 4)
Q7. Let fix) = m , then
A | fxy)=£x) *Ay) B | M) 2fx) ) C | o) £fix) %) D | None of these
Q8. | Domainof ya*-x* (a>0)is
Al (a4 B| [4aa4] C | [0,4] D | (0]
Q.9. If f(x)= ax+ b, where a and b are integers and f (-1) = -5, f (3) = 3, then a and b are equal to

a=-3,b=-1 a=2,b=-3 a=0,b=2
A B C D| a=2,b=3
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Q.10. 2 2x+1
The domain of the function f given by fix) = 'iz-i“ﬂg is
X°—-x-
A | R-{3,-2} B| R-{3,2} C| R-[3,-2] D| R-(3,-2)
Descriptive

Q.11.

Write the following sets in the roaster from

(1) A={x:xe R, 2x+11=15}
(i) B={x|x*=x,x€ R}
dii) C= {x|x is a positive factor of a prime number p}

Q12 Let T= {x| xS _ 5= Ax= 40} . Is T'an empty set? Justify your answer.
x—17 13-x

Q.13. | Out of 100 students; 15 passed in English, 12 passed in Mathematics, 8 in Science,6 in English and
Mathematics, 7 in Mathematics and Science; 4 in English and Science; 4 in all the three. Find how
many passed
(1) in English and Mathematics but not in Science
(i) in Mathematics and Science but not in English
(iii) in Mathematics only
(iv) in more than one subject only

Q.14. | In a survey of 200 students of a school, it was found that 120 study Mathematics, 90 study Physics
and 70 study Chemistry, 40 study Mathematics and Physics, 30 study Physics and Chemistry, 50
study Chemistry and Mathematics and 20 none of these subjects. Find the number of students who
study all the three subjects.

Q.15. | In atown of 10,000 families it was found that 40% families buy newspaper A, 20% families buy
newspaper B, 10% families buy newspaper C, 5% families buy A and B, 3% buy B and C and 4%
buy A and C. If 2% families buy all the three newspapers. Find
(@) The number of families which buy newspaper A only.

(b) The number of families which buy none of A, B and C.
Q.16 In a town of 840 persons, 450 persons read Hindi, 300 read English and 200 read both. Then the number
" | of persons who read neither is

Q.17. | FR={(x, y)/ y=2x + 7, where X€ R and -5 < x < 5} is a relation. Then find the domain and range of
R.

Q.18. | If R = {(x, |x|) / x is a real number} is a relation. Then find domain and range

Q.19. | If fand g are real functions defined by f (x) = x? + 7 and g(x) = 3x + 5, find each of the following
(i) A3)+g(-5) (ii) f(1/2) x g(14)

a —
Q.20. Iff(x)=y = then prove that f (y) = x

cx —a
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Answers

1)B 2)B 3)B 4) A 5D 6) D 7)C 8)B
9)B 10) A
11) A=4{2} B=1{0,1} C={1,p} 12)  T={10}
13)2,3,3,9 14) 20
15) 3300, 4000 16) 290
17) Domain = [-5, 5] Range = [-3, 17] 18) Domain = R, Range [0, o)
1363 -
19) 6, Y )

Worksheet/Class X1 Sets; Relations & Functions /Dolly David



